
1 шаг цикла
33 комбинации (по 22)  = 66 2-к
11111111111111111111111111111111111111111111
66(2)

OTV: 44 единицы(111111111111111111111111...) - неправильный тк 
цикл НЕ ЗАКОНЧИЛСЯ

2 шаг цикла
14 комбинаций по 22 = 28 двоек
28(2) и две 1 = 28(2)11
9 по 11 и (211)
18 единиц и (211)

3 шаг цикла
6 по (22) и (211)
12(2) и (211)
4 по (11) и (211)
8(1) и (211)
11111111211

4 шаг цикла
2 по 22 и (11211)
222211211
11211211

Правильный(221)
line = '111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111'
while '111' in line:
   line = line.replace('111', '22')
   line = line.replace('222', '11')
print(line)


